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interpret Language in Math Expressions - NOTES

Definitions:

Vocabulary Definition Examples

Algebraic
Expression

Variable

Term

Like Terms

Coefficient

Exponent

Base

Constant

Factors

Order of _
Operations . -
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Algebra i

Parts of an Expression & interpreting Expressions

Name:

Date:

Solve each probiem below. Choose the correct answer and put the corresponding

letter in.the blagnks at the bottom.

1. How many terms does the following
expression have?  xy2+3xy +2y-8

Zm=a
O~

2. |dentify the coefficient of the following

expression:  -3yx?
M-
R -3
Py
S X2

| 3. Interpret the cigebraic expression:
The sum of a number squared and 10.

2x+ 10
X2+ 10
2x-10
x2-10

3>(/)I“"'_

4. Which of the following expressions
has 3 termse

D 3x-7
R y*+3y2-4y+3
P m3+1
S  4p2+12p-10 -

5. Which of the following expressions has
a constant of 72

A by~7
G  4y+7
C 7y-5
L -7y+8

®

6. Interpret the algebraic expression:
Madeline has six beaded bracelets. She |

“buys two more each month.

O 2xX+6
R éx+2
P X2+ 6 *
K 2% + 6y

7. Choose the expression with three
terms, a constant of 5, and one term has
a coefficient of -4.

8. Ih‘rerpre’r the algebraic expression: -
The product of 4, 7z, and a number

decreased by 6.

l -4xy + 5 B 4rx - 6
A 2E-4x+5 R 4 - 6X
T 5@+4x-3 P  4+m+x-6
S 43+ 5x-4 S 6—4mx
what do you call friends who LOVE math#!
7 3 5 1 8 fo 6 4
3 I
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[dentifying P@ﬁs of E@sy & C@mpﬂn@@%@d Exp&e% lons Praclice

Sam ond Two fnends had dmner oﬁ o Spcmtsh fcapoas resi‘ozurcim i‘hori' cho;rges $é oer
tapa, of oxppeﬂzer The three of them shoared severol tapas. The total bil included toxes

of $4.32.
1. What was the cost of each tapa without inciud-ing toxese
2, What variable can be used fo represent the number of tapas ordered?

3. What algebraic expression can be used to represeh‘if the cost of the tapas ot $6
~ each, not including toxes?

4. What algebroic ex;oressmn can be used to represem the cost of 'i'he topos
: ordered including taxese

5. How many terms does the expression from guesfion 4 include?

4. Whot are fhe terms?e

© 7. Whot are the coefﬁc'iems of each term? : What s the constant®

T U R S e P A A B R i e s L

Andre purchczses 10 cons of i'enr‘ns bc;!ls from an onime s?ore cmd recewed o 25%
discount. Shipping cost $5.99.

' 8. What algebraic expression can be used to represent the total cost of tennis bals
purchased, if x represents the cost of each cong ‘ .

9. What algebraic expression con be used to represent the total cost of i‘ennzs bcxrls
purchoses ’rhoﬁ‘ 1nc|udes the 25% discount?

10.Whaot oslgebrcuc expression can be used to represent the cost of i'he cans of
tennis balls ordered with the 25% discount and including shipping?

11.How many terms does the expression from guestion 10 mclude@

12. List the terms.

13.What are the coefficients of each terme wWhat is the constante

T
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. 1dentify each ferm, coefficient, and constant insx® +3x+12.

2. Write on expression with 4 terms, containing the coefficients 3, 6, and 9.

3. Addie dgreés to buy a é-month package deal of monthly gym passes, and in Turh
receives o 15% discount. Write an expression to represent the total cost of the
monthly passes with the discount, if x represents the cost of each monthly poss.

4. A smartphone is on sole for 25% off of Its list price. The shipping cost is $10. What
expression can be used to represent the fotal cost of the smartphone? Let x
represent the list pricé of the phone. Identify each term, coefficient, constant, and

factor of the expression described.

5. Allie and some fiends went to o movie. Their fotal cost was $30.24, which included
taxes of $2.24. Write-an clgebraic expression to represent the price.of edch movie
ficket, not including foxes. Let x represent the number of Nadia's friends that went to

the movies. .

6. Stephanie wants {o buy'som;e purses that ore on sale for 30% off the original price of
.. $120. The shipping cost is $15. Write an algebraic expression fo represent the folal
cost of the purses. Let x represent the number of purses she is buying. f
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sion to an algebrole expression.

S
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expres
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Transiate each ver

6. Eight more than 3 times a number_
7. The difference of 10 and a number,
8. The guofient of 12 and o number.

9. 15 less thon twice a number '

10. Three-fourths the square of @ number
11. The product of 5 and the cube of a number increased by the difference of 6 and x

1. Half the sum of x and y decreased by one-third of v




Intro to Polynomial Notes

Definition:

Classification by Terms:

Polynomials
Poly Degree Name
Notation
¢ Standard Form: power to

e Leading Coefficient: The coefficient of the
in form.

Non-Examples

power.

term when the polynomial is

@ Like Terms: Must be the same. (same variable raised to the same power).

Combining Polynomials

(_5;;3 — 3+ (2]}3 — 3;;3)

{@f = 2047V =307 — 407

(4 + 2+ (507 +2)

(457 + 374 = (% = 577)
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Kuta Software - Infinite Algebra 1

Adding and Subtracting Polynomials
Sirplify each expression.

1 (5p*-3)+(2p*-3p")

3} (4+20°)+ (5n° +2)
5) {(3a®+ 1) - {4+ 2%
7) (5a+4)~{5a+3)

9) (~4E" + 14+ 31%) + {~3k* - 14k* = 8)

11) (126° - 62 — 10a”) - (102 - 24° - 14a")

13) {=x* + 1355 +62%) + (627 + 5 + 7x%)

15) (1302 + 11n - 2"} + (13n% - 3n - 6n%)

Name

Date;

7) (a3—2az)f(3a2—4aa} -
8) (4n-3n") - (30 + 4n)
6) (4r3+3r4)—(é‘*-5r3)

8) (34 - 3x) ~ (3 - 5¢*)

10) (3 - 61 = 8n*) - (~6n" — 3n - 8n’)

12) {830t + 102%) - (30 + 11n* = 7)

14) (7 +5/* + 117 + (27 + 9r - 2rt)

16) (76 + 14-20) + (102" + T+ 55°)

Period




17) {7~13" = 11x)~ (2x* + 8 - 4x")
19) (3 + 8 = 10v)) - (H12v° + 4° + 147)
21) (& - 3- 3%} + (=58° + 6° — 8°)

23) (~7n’ + 8n—4) - (~11n + 2 - 14n)

25) (8k+ &%~ 6) ~ (~10k +7 ~ 2%%)
26) (~9v? = 8u) + (~2uv — 2 + v} + (" + 4uy)

27) (dx? +7x%y%) ~ (=622 ~ Tx'y? = 4x) - (10x + 92)

18) (130> ~ 6a° - 2a) - (<104 - 116’ + O}

20) {80 -6+ 3% = (o* =78 = 3)

20) (10K + Tkt k) + (14— 4K — 148)

) (14p* + 11p? =9p°) - (14 +5p° - 1L p?)

28) (=5uv* + 9u) + (~5uv* - B+ Butv?) + (-8uv? + 8u’v?)

99) (=9xp° - 9x*p) + (3n® + 79" = 8aty*) + (3% + 2y°)

30) (y - 7x4y‘) + (~10x%° + 6 y3 + 4x4y4) - (.w"y3 + Gx"y'*)




L9- Multiplying polynomials_both.notebook

( Multiplying Polynomials: Lets Compare

August 01, 2019

EREL I B lt e M F e
D\str'\bui'we U e o
propa™
With Binomials!
L s uiiNe
st (x ¢ 2Hx )=o) o Hx+ )
propenty cxex+yed: Texq ied distribute

=x" e dy4 2y 48 combine like terms

=xT 405 +8 Ansver

Aug 12-7:23 AM

Multipiying Binomials/Polynomials
FOIL )
F-First (2x + 3)(3x + 4)
0- Quiside
|- Inside

L- Last

1. (n-8)(3n + 8)

2. (7x - B)(2x - 8)

3. (2b-7){5b+ 1)

4. (Bx+ 7)(x-7)

Sep 30-9:33 AM

.

Sep 30-9:22 AM




Euta Software - Infinite Algsbra 1
Wultiplying Polynomiais
Find each product.

1} 6v(2v + 3

3) 2x{-2x-3)

5 {2n+ 2)6n + 1)

v

7' (x - 3)6x~2)

9) {6p+8)5p—8)

11y (24— 1)(8a—5)

Period

2) -5v-8)

4) ~4v+1)

6) (dn+1)(2n+6) -

8) (8p~-2)6p+2)

10) (3m= 1)Bm+7)

12) (3n+ 650~ 3)




13) (p-1)

15) (6n+ 3)6n~4)

17 (6;;} 5)5%+5)
19) (4a+ 2)6a* -4+ 2)
21) {77 - 6r - 6)(2¢ ~ 4)

23y (68% ~ b~ 570 + 6n—5)

4} (7 652+ 6

16) (8n+1)6n~3)

18) (3x~4)4x+3)

20y (Tk- 3P~ 24+ T)

22) (2 # b - 4)(2n — 4)




L10 Multiplying special cases.notebook

Special Case Binomials. Complete the following, see
a pattern?

August 01, 2019

1) @x+1)2x-1} 2) (3y+3H3y-2)
1) (@Ax+ 17 43 t6x-27
{a+ b Perfect Square
{a-h)2 Perfect Square
(a+Db)a-b} Difference of Squares

A Add Times Sublract
Algg .
{a+h)a-bi= .7 D’Fpgcaﬂed“
QU4 N
The result: Reg S 0r

{a+bi{a-b) = g - Bé

(2%+1¥2x%-1)
4% -1

Aug 15-6:23 AM

Aug 6-8:42 PM

1, Multiniving o Binomicl by iiself
fa+by = (32bia+h)
The result:

(5+b)? = a? + 2ab + b7

o Ax+1) e,
Bty

M6+ 8x + 1

twice Lhe product

Lty
‘G‘ug@n_

of first and sacord term
2t4)1)

2. Subsiroct Times Subbrocd

{a-—-b)

The result;
7= ad - 2ab 4 B

(6x-2)°

36x% - 24x + 4

Aug 6-8:32 PM

Aug 6-8:39 PM




‘_ ‘.Kuia"S@ftwarc - Infiniie Algebra 1
Multiplying Special Case Polynomials
Wind each product.

(x + 5= S)

EE

“7

3 (p~1)

5) {x—4)

_7wufﬁu+ﬂ

9) (2 + 1)

11) {2+ 562

Narne

Date

7) (n. - 1)(11.+ 1)

&) (x-3)x+3)

6) {n+ 3}2

8) (n-5)

10) {84* + 4)(8a” - 4)

12) (3x-7(3x+7)

e

WL g

Period_




Algebra 1
Multiplying Polynomials
Find each product.

1) (4n® +5)*

3) {8n—1)?

5y (5x~1)(8x+1)

7y (26-5)(58%+b+7)

1

Name

I]j: 1

Date

2) (6x +8)(6x —8)

4y (5v-5)5v+5)

6) (4r+ 1)2r -2)

8) (4x +3)(2x? +5x-3)

Period




Algebra 1
Name

Combining Polynomiais- ligsaw

1. Afloor game uses a grid represented by two dark gray.spaces and two white spaces. If each floor grid has four
squares, and the side of each square is represented by 3a, what expression represents the area of the entire
floor grid? :

2. The lengths of the correct paths through a maze are represented by 3x*+6, 2x*~x, 7x+2, 5x%—3,
-4x> + 1, and 8x + 3. Write an expression that represents the length of the correct path through the maze.

3. While Stacey loves the wild rabbits in her back yard, she would fike to keep the little critters out of her vegetable
garden. If her vegetable garden is a rectangle whose width is represented by 5x% + 3x and whose length is
represented by 2x” + 4, write an expression that represents the amount of fencing needed to enclose the veggie
garden,

4. Inthe year 1995, the average cost of a cellphone could be modeled by the expression -10F + 1600 where t is the
number of years since 1995. By the year 2009 the average cost had changed, so it could be modeled by the
+ expression -18t* + 800. Find the difference in the average costs for a cellphone between 2009 and 1995.

5. Ifthe length of a rectangle in terms of x is 5x* + 2x + 1, and its width is 3x + 1, what is the perigeter of this
rectangle?

6. Bob mowed 2x* + 5x - 3 yards on Monday, 4x — 7 yards on Tuesday, and 3x? + 10 yards on Wednesday. How
many yards did he mow in the three days?

7. Molly has 4x + 10 dollars and Ron has -5x + 20 dollars.

a. How much money do they have altogether?

b. How much more money does Molly have than Ron?

\S




